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Day 1

1. Match each slopefield below with the proper differential equ
general solution of each differential equation. NOTE: The partic

(0,0) has been sketched in.

ation from the set. Find the
ular solution that goes through

dy . dy 2 o ' 1 T
A)y'= B) ==2 C)==3x"=3 . (D)y'=-=
(A) y'=cosx ()! X ()z X D)y >
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2. The slopefield shown at the right is for which of the following differential equations:
vvr’n can PO“‘W’

@ ATy =x+1
(B) y'=sinx -\'b
(C) y'=-sinx 0\?\

o b
(D) y < ok 0{(0\? ANR

3. The slopefield shown at the right is for which of the following differential equations?
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4. A solution curve has been superimposed on the slopefield shown below. The solution is for

which of the following differential equations?
Yrovizowiow\  Podren i~

Wy-=tanx, y(0)=0 : . o || ! i | ' | :‘,
6 w{y'=cotx y(;[)—l : ' : :.‘J,"I‘_ ? { y /
- K/y '=1+x%, (0)=0

Scanned by CamScanner



Solve the initial valye problems:

] dy dy 1
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